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QUESTION 1

The best test for diagnosis of adenomyosis: 

A. Ultrasound 

B. Laproscopy 

C. Hystroscopy 

D. MRI 

Correct Answer: D 

Adenomyosis is a non-cancerous condition of the uterus that can mimic many of the signs and symptoms of fibroids.
This condition results from the lining cells of the uterus growing directly into the muscle wall of the uterus. When the
lining cells of the uterus bleed at the time of the menstrual period, these misplaced cells in the muscle bleed as well.
And bleeding directly into the muscle causes pain. As the blood accumulates, the surrounding muscle swells and forms
fibrous tissue in response to the irritation. This swollen area within the uterine muscle wall, called an adenomyoma, feels
very much like a fibroid on examination and is often confused with a fibroid on a sonogram. Adenomyosis may be mild
and cause no symptoms at all, or, in more severe forms, it may lead to heavy bleeding and severe cramping during
menstrual periods. Adenomyosis is present in about 10 percent of women and, therefore, is less common than fibroids.
However, now that women with adenomyosis can be diagnosed by MRI, careful examination of the cellular changes of
the uterus suggests that there are many reasons why adenomyosis could cause infertility. These new studies will also
be very important in helping scientists figure out what type of treatments might cure adenomyosis, or better yet, prevent
it from developing at all. 

 

QUESTION 2

A 33 year\\'s man has a temp-38.5C, cough and chest pain on the right side on inspiration. He also has puru. 

What is the most likely organism to cause pneumonia in this patient? 

A. PCP cold agglutinins 

B. AFB 

C. Gram -ve doplicoccic 

D. Gram +ve doplococcic 

E. Coagulase +ve cocci 

Correct Answer: C 

It is a case of community acquired pneumonia caused by streptococcus pneumonia. 

 

QUESTION 3

A 38-year-old man presents with acute infection of skin in the leg. Diagnosis of cellulitis has been made. What should be
prescribed? 
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A. Ceftriaxone + Flucloxacillin 

B. Vancomycin + Metronidazole 

C. Metronidazole + Erythromycin 

D. Ceftriaxone + Terbinafine 

E. Penicillin + Flucloxacillin 

Correct Answer: E 

Penicillin + Flucloxacillin. Cellulitis is usually caused by bacteria, such as staphylococci or streptoc are commonly
present on the skin. So Penicillin + Flucloxacillin should be given. 

 

QUESTION 4

A 25 year woman comes to sexual clinic and ask for advice for contraception.She is on sodium Valporate.
COCP=combined oral contraceptive pills. 

A. She can use COCP with extra precaution 

B. She can use COCP 

C. She can use COCP with estrogen 50 microgram and progesterone higher dose D. She cannot use COCP 

Correct Answer: B 

Mammography above age 50 lowers mortality the most. Although screening should start at the age of 50, the mortality
benefit is also greatest above the age of 50, because the number of cases of cancer detected will be greater above the
age of 50. The age cutoff for mammography is somewhat controversial. Step 3 will likely avoid the issue. 

 

QUESTION 5

Female patient with hirsutism, obesity, infertility. Ultrasound shows multiple ovarian follicles. 

What is the diagnosis? 

A. Klinefelter syndrome 

B. Asherman\\'s syndrome 

C. Stein-leventhal syndrome 

D. Kallmann syndrome 

Correct Answer: C 
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